Problem 11-6 — Determine the support reactions. The supports at A, B, C, and D are pins. Assume the horizontal reactions are zero. El is constant.

12 kN/m

3 EQLJA”I?@A\'—L SF EROALIBZION

S |
/ 77



Problem 11-6 — Determine the support reactions. The supports at A, B, C, and D are pins. Assume the horizontal reactions are zero. El is constant. Z.

12 kN/m

12 kN/m

AB:O= AB, + ABZ+EYJ\:{;E, +é~/ ](}3(,

\ v /A?' //AC'

7
| q

P

P

08z Bty
\D/]L—\\D\

AC = OfAC, + ACZ+%j7Ec& ~‘"(-“lg‘“'




Problem 11-6 — Determine the support reactions. The supports at A, B, C, and D are pins. Assume the horizontal reactions are zero. El is constant.

12 kN/m

/ /l\ B Om T /
Af( D\/
Yol < 1
/F A C  lkw T /
®.

=

X Use VirTuAL Woek. Te coM PsTe
A%o ér ACO

@2 MD:o _ Lk (10m) ~A§ (12m)

PeA :
IR
1 ZF-o=A, D, - jokd
VIZTUAL D*-// = SkN |
Read i
@2%:0:“1(@‘,\)%{(\20
/—\\}j:"zé
+/P2E} "—'O:A/\} % D/\/-F 1
/
Dy ==Yy



Problem 11-6 — Determine the support reactions. The supports at A, B, C, and D are pins. Assume the horizontal reactions are zero. El is constant. L}

12 kN/m

FinD A

PR

ReAL VIOUENTS| St Iz TUAL Mo%ém’(‘:l
t <x2y |
O[Zi 1[;/ ®ZM‘C\J’ < LErE m, [@Z’\/{;J{ -
I | Zﬁs +|2C> H()x E“——‘—_“‘_J> :M!"’ /_7>)<
Lfol<1\ < M,: [—éx +L}C>;<J krlw %‘If%x M, = = “2X
b < %<1z 7 hex<lz
M= @2}\/‘6% Sh Mz @2”5%“0
N :—V{a* &z-2) _g‘—‘——_f\'[/ L e \/302,_@
T 2N

0y
/\/\z: [&(IZ~><)] el " < Mz = —‘/—3<\Z~x>

12 . 1z
A a“t/\mAx%—S%,mc\x,J ]

\z,_@i;x}

% (Coxz-— LO ><>C\>< ¥ gf

t O 2 5
= - 76BN m /6]'_

W |op




Problem 11-6 — Determine the support reactions. The supports at A, B, C, and D are pins. Assume the horizontal reactions are zero. El is constant.

FIND Ac,

12 kN/m

| | 4m
12 kN/m
JIRTIAL AomenTS
e F & EX £\
%ﬂl @ZMC\H:D (71/‘/12_ @ZZMCUT:‘C)
T : =ML | Z
l/E\L 4 = WM +13")< _ﬁlz-—x / =M, f’%(lz—"x>
- z
M]:‘-ﬁ)(é _% MZ:*% lz_x>
L4 2 12
Acs-é?[gM,m,Ax + g?\/]zw\‘c\x +§Mamtfx]
L*O t B S [z
(X gL T e
-2 | | 2loxt0d + (B2 +( L2 (23 ax]
< Lt N
@LlO {4’\]1 1/




Problem 11-6 — Determine the support reactions. The supports at A, B, C, and D are pins. Assume the horizontal reactions are zero. El is constant.

12 kN/m

4m

A

/

/

12 kN/m

sl
e
<
™
>
w
\
>
S

\-M
A&, A )
/VL\% g e
S T T s . 2

/"VTV/E By fee \f&
. ! =}
ey
4 77 7{/3_/

le,

AR =-AC, Ac =-Ap,

% Feer TABLE, We cAN TIND jﬁ

o (oLEX

| = \ZW]} )('-’611\/1/ lp':(«t‘qu = O

%@7 = _(E_% LL}— L,Z_Xﬂ

L:}ZW\}K :[‘fW]} E'—“Ltm)cj\ :6M

f o Z24m
& det

o = Vsc

B2

7&@ - ]EBE’-/-




P

Problem 11-6 — Determine the support reactions. The supports at A, B, C, and D are pins. Assume the horizontal reactions are zero. El is constant.

12 kN/m

I
12 kN/m

A&:o = AB, +ABZ_ +%7§%& +C7 J[g(_
_ A0 B, +224 C ]mw%
“51[ Tofp + U0 + 250 By +224 O D

AC:O = ACI + [_\Cz i %y§46 +C7 %CC
C\

S

EL
D@ = <4 =P

(D = 1152 =2568 +z224(-By) = |,152=22F,

3

By=2Ck

C\! = %(ﬁ\\l




Problem 11-6 — Determine the support reactions. The supports at A, B, C, and D are pins. Assume the horizontal reactions are zero. El is constant. 8

12 kN/m

12 kN/m

zm“/zm Y @2%:0-——%@0%) — 2k )(Bw)

/[\ /]\ J/ ZW‘/H\ - /I\ L. + 5(010\\@’(&/\4) S NAN (ZWD
20kl 3okl gk A e

A\,z Zokn)

%1\2;/ _o= A, Dy - 1ok +Uok
L Zobd — 26

P\/ = —»A=f

D\/ = = ZO \Z‘R]




